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Welcome to our comprehensive blog on WBP Constable Prelims Previous Year Paper 2018 Solutions. We understand the
importance of a well-rounded study plan when preparing for the West Bengal Police (WBCS) Constable Preliminary
examination. In this blog, we provide detailed solutions to the WBP Constable Prelims Previous Year Question Paper
2018, designed to equip you with the knowledge and confidence necessary for success.

By reviewing these solutions, you not only gain insights into the types of questions asked in the WBP Constable Prelims
but also grasp the level of difficulty you can expect. Our goal is to make your preparation journey as smooth as possible,
and this blog is your key to unlock a deeper understanding of the exam pattern, enabling you to fine-tune your strategy
and hone your problem-solving skills.
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If you haven't attempted yet, click on the embedded link to go
through the questions. So, without having a further due, let's look at the detailed solutions of the WBP Constable Prelims
Previous Year Question Paper 2018.

WBP Constable Prelims Previous Year Paper 2018
Solutions

Q:1 The correct answer is Option 3 i.e. 45/29
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= \(841/2025) = 29/45

Let the number be ‘X' that is multiplied to get 1.
=>Xx29/45=1

= x =45/29

Q:2 The correct answer is Option3i.e.8:6:5

Let the number of coins of 1 rupee, 50 paise, and 25 coins be 2a, 3a & 5a respectively.
=2ax1:3ax0.5:5ax0.25

= 2.:1.9: 1:23

Multiplying with 4

=8:6:5

Q:3 The correct answer is Option 3 i.e. 2/3,9/13, 5/7, 8/11
Changing fractions into percentages

= 2/3=66.67%

= 9/13 =69.21%

= 5/7 =71.42%

= 8/11=72.72%

Q:4 The correct answer is Option 4 i.e. 12

Let the fruit seller have y fruits initially,

= 1/4 is given to a buyer, he left with = 3y/4

= 4/15 given to other, he left with = (11/15) x 3y/4
= 33y/60 = 33

= 11y/20 = 33

=y =60

= (4/15)(3y/4) given to second seller

= 60/5=12

GETITON

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal Google Play

QO +91 - 8436586516, +91-8436900456

B thedhronas@gmail.com

@ thedronas.com f » A



https://www.thedhronas.com/blog/wbp-constable-prelims-previous-year-paper-2018-solutions-download-pdf

]” THIE - DA||_Y
JD) ]H[][{(O)NS DOSE

SSC Banking WB Police WB Civil Services  Other Competitive Exams

WBP Constable Prelims Previous Year Paper 2018 Solutions - Download PDF

Q:5 The correct answer is Option 1i.e. 6

Let the number of beggars be 'y’
=>6y+7=8y-5

=2y=12

=>Yy=6

Q:6 The correct answer is Option 1 i.e. 33 km/h
Let the speed of train be S with length T of train.
Distance = speed x time

=>T=(S-6)x10

=>T=(S-3)x9

= 10S-60=9S-27

= S =33 km/h

Q:7 The correct answer is Option 1 i.e. Rs.16
Reduction = 20% or 1/5

= Increased quantity = 1/4 or 25%

25% = 2.5kg

100% = 10 kg

= 10kg =160

= 1kg =Rs.16

Q:8 The correct answer is Option 1 i.e. 16%/3%
Let the SP be the selling price and CP be the cost price of the item.
= 28(SP - CP) =4SP

= 24SP = 28CP

= 6SP =7CP

= SP/CP =7/6
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= Gain% =1/6=16.67%

Q:9 The correct answer is Option 3 i.e. 22/5

= (1/2+1/20f 1/2)/(1/2 + 1/2 of 1/2)

= (1/2+1/4)/(1/2 +1/4)

= (2/3/4)

= 8/3 or 2%/4

Q:10 The correct answer is Option 1 i.e. 76

Let the two numbers be 6a and 13a respectively,
= lcm(6a, 13a) =6x 13 xa =312

=2a=4

= 6a=24,13a=52

= 6a+13a=24+52

=76

Q:11 The correct answer is option 1 i.e. Antarctica.

- India's remote Permanent Research Centre, 'Dakshin Gangotri' is located in Antarctica.
« Established in 1983-84.

Q:12 The correct answer is Option 3 i.e. 25%

The decrease in n/n+d% is negated by an n/d% increase in the quantity.
= 20% decrease = 1/5 decrease

= It can be negated by 1/4 in increase or 25% increase.

Q:13 The correct answer is Option 3 i.e. 3358

2819042 lies between 16792 and 16802

= 16802 = 2822400

= 2822400 - 2819042 = 3358

Q:14 The correct answer is Option 3 i.e. 40

Let the age of father be 'a’ and the ages of two sons be 'b"and 'c'
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=>a=2(b+c)

After 20 years

>a+20=b+c+40
=2(b+c)+20=b+c+40

=>b+c=20

=a=2(20)=40

Q:15 The correct answer is Option 3 i.e. 15 litres
The ratio of milk and water be 3: 2

Milk in the mixture = (3/5) x 45 = 27 litres
Water in the mixture = 45-27 = 18 litres

Let x litres of water be added

=27/(18 +x) =9/11

=3/(18+x) =1/11

= X+18 =33

= X =15 litres

Q:16 The correct answer is Option 3 i.e. 0.2
= 3v(1/0.000064)

= 34(0.008)

= 0.2

Q:17 The correct answer is Option 1 i.e. 20%

Let the cost price be CP and selling price be SP

= 12CP = 10SP
= 6CP = 5SP
= SP/CP =6/5

Gain% =1/50r20%
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Q:18 The correct answer is Option 3 i.e. Rs. 40,000
Let the cost of property be Rs.a’

= 0.36a = 14400

= a = 14400/0.36

= a = Rs.40,000

Q:19 The correct answer is Option 3 i.e. 300 m/hr
Speed = Distance/time

In still water,

= speed = 100/(4/60)

= 1500 m/hr.

Against the current,

= speed = 100/(5/60)

= 1200 m/hr.

Speed of current = 1500 - 1200 = 300 m/hr

Q:20 The correct answer is Option 1 i.e. 30 hours
Let the capacity of tank be Icm(5, 6) = 30 units
Efficiency of the pipe = 30/5 = 6 units

The efficiency of pipe with hole =30/6 = 5 units
= The efficiency of hole = 6 - 5 =1 unit

= 30/1 = 30 hours

Q:21 The correct answer is Option 3 i.e. 15 days
Let the number of days taken by 1 man be M and the number of days taken by a child be C
=2/M+7/C=1/4

=4/M+4/C=1/3

Solving both of them
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=10/C=1/6

= C = 60 days

=>4/M+1/15=1/3

= 4/M =4/15

= M = 15 days

Q:22 The correct answer is Option 3 i.e. 8, 12
Let the two digits be 2x and 3x

= (2x+4)/(3x+4)=3/4

=>8x+16=9x+12

=x=4

2x=8,3x =12

Q:23 The correct answer is Option 4 i.e. 19%
Principal + 2 year interest = Rs.720

Principal + 5 year interest = Rs.1020
Subtracting both of them,

= 3 year interest = 300

= 2 year interest = Rs.200

Principal = 720 - 200 = 520

= 200 = (520 x 2 x1)/100

=r=19%

Q:24 The correct answer is Option 2 i.e. 99855
The greatest 5-digit number is 99999, but the number should be divisible by 315
= 315k form = 315(317) = 99855

Meanwhile 315(318) = 100170 i.e. 6 digit number

Q:25 The correct answer is Option 3 i.e.1:12
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The minute hand covers 6° distance per minute
The second-hand covers 1/2° distance per minute
= Ratio = (1/2)/6=1:12

Q:26 Correct answer is option 4 i.e. 7

The numbers which are divisible by 4 and have number 4 in it are:
4,24, 40, 44, 48, 64 and 84

So there are 7 numbers.

Q:27 The correct answer is Option 2 i.e. 12:30 pm
Relative speed =4 + 3 =7 km/h

Total distance = 17.5 km

Time =17.5/7

= 2.5 hours

2.5 hours from 10AM is 12:30PM

Q:28 The correct answer is Option 4 i.e. 5

By observation, you can see that 150062k is near 12252 i.e. 1500625
=>k=5

Q:29 The correct answer is Option 1 i.e. 48 years
Sum of ages of two men =45 + 35 = 80 years

= Increase in total ages = 8 x 2 = 16 years

= 80 + 16 = 96 years

= Average = 96/2 = 48 years

Q:30 The correct answer is Option 4 i.e. 252

Total soldiers in square formation = 63535

After removing the excess soldiers = 63504

= (63504) = 252
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Q:31 The correct answer is option 2 i.e bbabb.

The sequence is — abb

a_ba_b_b_a_b

We need to fill it with the help of options and then check the pattern.
The complete series is as follows:

abb/abb/abb/abb

Hence, bbabb will be in blank spaces.

Q:32 The correct answer is option 2 i.e brother in law.

As shown in the diagram ;

Square shows males, the circle shows females, vertical lines show generations, single horizontal line shows brother or
sisters and double lines show a couple.

Thus considering the figure, D is the brother in law of E.
Considering all the four options the most appropriate is option 2.
Q:33 The correct answer is option 4 i.e. 22.

The logic used here is:

(11x2)=22
(11 x6) =66
(11 x18) =198
(11 x 54) = 594

Hence, option 4 is the correct answer.
Q:34 The correct answer is option 1 i.e 55.
The logic used here is:

Z =26 and NET = 39

Z=26

NET=14+5+20=39
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Similarly,

Code for the word NUT:
NUT=14+21+20=55

Hence, option 1 is the correct answer.
Q:35 The correct answer is option 1i.e. W
On reversing the arrangement, we get: ZY XWVUTSRQPONMLKJIHGFEDCBA
16th letter from the left end: K

12th letter to the left of K W

Q:36 The correct answer is option 3 i.e 4.
The logic used here is:

256 means 'red coloured chalk’, 589 means 'green coloured flower'. And if 245 means 'white coloured chalk'
red=6

coloured = 5

chalk =2

white = 4

green=8or9

flower =8 or 9

Similarly,

Code for the word WHITE:

WHITE = 4

Hence, option 3 is the correct answer.
Q:37 The correct answer is option 4 i.e 22.
Given Equation: 18-6 + 8 x 4 =?

X =+

-+
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-

After interchanging the equation becomes;

=18+6-8+4

=18+6-2

=24-2

=22

Hence, option 4 is the correct answer.

Q:38 The correct answer is option 3i.e. 8

Given expression: 16 +8+2-1x8 =7

On changing the signs according to the question, expression becomes:

16 +8-2x1+8

=2-2+8
=10-2
=8

Q:39 The correct answer is option 3 i.e. 36.
Given: 55+66 = 33, and 22+99 = 33

Then 44488 =?

The logic used here is:
55+66=5+6=11=11x3=33
22+99=2+9=11=11x3=33
44+88=4+8=12=12%x3=36

Hence, option 3 is the correct answer.

Q:40 The correct answer is option 3 i.e 11.

GETITON

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal Google Play

QO +91 - 8436586516, +91-8436900456

B thedhronas@gmail.com

@ thedronas.com f » A



https://www.thedhronas.com/blog/wbp-constable-prelims-previous-year-paper-2018-solutions-download-pdf

]” THIE .
JD) HRONAS b5

Ensuring success through skills

SSC Banking WB Police WB Civil Services  Other Competitive Exams

WBP Constable Prelims Previous Year Paper 2018 Solutions - Download PDF

11 triangles: ALM, BKH, CJI, DHI, GHI, ABC, DEF, EGH, GIF, MJF, ELK.

Q:41 The correct answer is option 4 i.e Deck.

The logic used here is:

The cockpit is the part of the aircraft that offers visibility to the front and sides.
Similarly,

Ship:?

A boat or ship deck serves as the primary working surface.

Hence, option 4 is the correct answer.

Q:42 The correct answer is option 2 i.e. B.

The sequence of figures is:

At first, the figure is rotated by 45 degrees in the anticlockwise direction and then a line is added to the next figure in the
anticlockwise direction.

Q:43 The correct answer is option 3 i.e. XSZIN.
The logic used here is:

BEAUTY can be written as YVZFGB

Opposite of B=Y

Opposite of E=V

Opposite of A=Z

Oppositeof U=F
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Opposite of T=G

Opposite of Y =B

Similarly,

Code for the word CHARM:

Opposite of C = X

Opposite of H=S

Opposite of A=Z

Opposite of R = |

Opposite of M =N

Hence, option 3 is the correct answer.
Q:44 The correct answer is option 3i.e. 40
Ais 16th from the left end and B is 4th to the right of A = This makes a total of 20 people.
Now, B is 5th to the left of C, who is 16th from the right end = This again makes a total of 20 people.
Thus, there are 40 boys in the row.

Q:45 The correct answer is option 4 i.e. 14.
Given series: 2,5,9,7,20,27

The logic used here is:

2+3=5

5+4=9

9+5=14

14+6=20

20+7 =27

The missing term in the series is 14.
Hence, option 4 is the correct answer.

Q:46 The correct answer is option 4 i.e. AERT.
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The logic used here is:

EARN is written as RANE and BOND is written as NODB

Similarly,

Code for the word TEAR:

Hence, option 4 is the correct answer.
Q:47 The correct answer is option 2 i.e. FL.
Given series: GH, JL, NQ, SW, YD,?
The logic used here is:

G+3=J

H+4=L

J+4=N

L+5=Q

N+5=S

Q+6=W

S+6=Y

W+7=D

Y+7=F

D+8=L

The next term in the series is FL.
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Hence, option 3 is the correct answer.

Q:48 The correct answer is option 3 i.e. Northeast.

At first, he turns 100° in the clockwise direction and then 145° in the anticlockwise direction.

Effective change = 145- 100 = 45 degrees in the anti-clock wise direction i.e. he is in the North east direction.
Hence, option 3 is the correct answer.

Q:49 Correct answer is Option 1 i.e. 9 /3 seconds

At 4 o'clock, the hammer will strike the gong four times and in between there are three pauses.

So, 4s + 3p = 4 seconds

where,

s = duration of each strike

p = duration of each pause

At 8 o'clock, there will be eight strikes and seven pauses, so it will take time
=>8s+7p={2x(4s + 3p) + p}

= {(2 x 4 seconds) + p} = (p + 8 seconds).

Now, the maximum value of p is when p >> s.

In this case 3p = 4 seconds or, p = (4/3) seconds = 1.33 seconds.

So, the time taken to announce 8 o'clock by bell will take any time between 8 seconds and 9.33 seconds.

Q:50 The correct answer is option 1 i.e.

The possible Venn diagram is:
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Hence, the diagram given above shows the best relationship between them.

Q:51 The correct answer is option 2 i.e. Jammu and Kashmir.

In the Indian Constitution, Article 35A pertains specifically to Jammu and Kashmir.
Q:52 The correct answer is option 4 i.e. Joule.

Joule is used as a measure of 'heat'.

Q:53 The correct answer is option 4 i.e. Sardar Vallabhbhai Patel.

« In the year 1928, Sardar Vallabhbhai Patel was the leader of the Bardoli Satyagraha revolts.
- It was a major episode of civil disobedience and revolt in the Indian Independence Movement on 12 June 1928.

Q:54 The correct answer is option 1 i.e. Gupta Dynasty.

The Ajanta Cave paintings are from Gupta Dynasty.

Q:55 The correct answer is option 2 i.e. 1943.

Netaji Subhash Chandra Bose took exile from India in the year 1943.
Q:56 The correct answer is option 4 i.e. Niti Aayog.

+ The Planning Commission has recently implemented Niti Aayog.
* Its aim is to achieve sustainable development goals with cooperative federalism by fostering the involvement of
State Governments of India in the economic policy-making process using a bottom-up approach.

Q:57 The correct answer is option 4 i.e. Pulin Bihari Das.

« Pulin Bihari Das established the 'Dhaka Anushilan Samiti' in 1905.
+ [t was a branch of the Anushilan Samiti.

Q:58 The correct answer is option 4 i.e. Neptune.
At the present day, Neptune is the coldest planet in our Solar System.
Q:59 The correct answer is option 4 i.e. BRABO.

+ BRABO stands for “Bravo Robot”.
- Manufactured by TAL Manufacturing Solutions.
» Developed indigenously for micro, small and medium enterprises (MSME) in India.

Q:60 The correct answer is option 3 i.e. Gujarat.

- Garba is a form of dance that originates from the state of Gujarat.
« it is performed during the nine-day Hindu festival Navaratri.
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Q:61 The correct answer is option 4 i.e. Sonam Wangchuk.

+ Sonam Wangchuk won the Magsaysay Award in the year 2018.
- Awarded for his contribution in harnessing nature, culture and education for community progress.

Q:62 The correct answer is option 2 i.e. Pea.

- Pea is responsible for supplying nitrogen to the soil and enriching it.

+ Legumes are plants that bear their seeds in pods

- They grow in a symbiotic relationship with soil-dwelling bacteria.

+ The bacteria take gaseous nitrogen from the air in the soil and feed this nitrogen to the legumes; in exchange, the
plant provides carbohydrates to the bacteria.

Q:63 The correct answer is option 1 i.e. Acetic Acid.

+ Acetic Acid is used in food preservation.
- It is used as a sour agent added in vinegar, pickled vegetables, and sauce

Q:64 The correct answer is option 1 i.e. Antarctica.

« India's remote Permanent Research Centre, 'Dakshin Gangotri' is located in Antarctica.
- Established in 1983-84.

Q:65 The correct answer is option 3 i.e. Kaliprasanna Singha.

- Kaliprasanna Singha is known by the pseudonym Hootum Pyancha.
» The most famous work was the translation of the ancient Hindu epic Mahabharata into Bengali.

Q:66 The correct answer is option 1 i.e. Compilation of Dictionary.
Lexicography is associated with the Compilation of the Dictionary.
Q:67 The correct answer is option 4 i.e. Dronacharya Award.

* Dronacharya Award is a highly esteemed prize for Indian Coaches.
+ First awarded in 1985

Q:68 The correct answer is option 1 i.e. South Korea.

+ The 2018 Winter Olympics was held in South Korea.
- Was held between 9 and 25 February 2018 in Pyeongchang County, Gangwon Province, South Korea.

Q:69 The correct answer is option 4 i.e. Kolkata.

« Kolkata is known as the 'City Of Palaces'.
- It is so-called because of the British Raj buildings in the 19th century.
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Q:70 The correct answer is option 1 i.e. Sweden.

« All prizes except the Peace Prize are given by Sweden.
- Awarded to "those who, during the preceding year, have conferred the greatest benefit to humankind.”

Q:71 The correct answer is option 4 i.e. Dayananda Sarasvati.

- Dayananda Sarasvati was the founder of the Arya Samaj.
» Founded in 1875.
- The aim was to reestablish the Vedas, the earliest Hindu scriptures, as revealed truth.

Q:72 The correct answer is option 2 i.e. Indraprastha.

+ Indraprastha was the ancient name of Delhi.
- It means 'city of Lord Indra’.

Q:73 The correct answer is option 3 i.e. Bibhutibhushan Bandhopadhyay.

« Bibhutibhushan Bandhopadhyay wrote Pather Panchali.
- Itis a 1955 Indian Bengali-language epic drama film.

Q:74 The correct answer is option 4 i.e. Myanmar.

+ Rohingyas are the inhabitants of Myanmar.
- They are a stateless Indo-Aryan ethnic group who predominantly follow Islam and reside in Rakhine State in
Myanmar.

Q:75 The correct answer is option 4 i.e. 1835.
Medical College, Kolkata was established on 28 January 1835.
Q:76 The correct answer is option 1 i.e. Rash Behari Bose.

- Rash Behari Bose established the Indian Republican Army.
* The army was first formed in 1942.
- Its aim was to secure Indian independence from British rule.

Q:77 The correct answer is option 3 i.e. Hooghly.

* The first printing press was established in Bengal at Hooghly.
« It was that of a Mr Andrews.

Q:78 The correct answer is option 3 i.e. Taking care of plants devoid of soil.
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- Hydroponics, also known as aquaculture or tank farming, is a way of studying scientifically the mechanisms of
plant nutrition.

- It may have no solid material under them.

* Its roots often simply hang in water with a rich mix of nutrients dissolved in it.

Q:79 The correct answer is option 4 i.e. Ruble.
The Currency of Russia is Ruble.
Q:80 The correct answer is option 3 i.e. North Korea and South Korea.

+ 38th Parallel divides North Korea and South Korea.
- Itis a circle of latitude 38 degrees north of the equatorial plane.

Q:81 The correct answer is option 3 i.e. Pingali Venkayya.
Pingali Venkayya created the first design of the Indian National Flag.
Q:82 The correct answer is option 3 i.e. Zagreb.

* The capital of Croatia is Zagreb.
- It is the largest city of the Republic of Croatia.
* Located along the Sava river.

Q:83 The correct answer is option 3 i.e. Silly Point.

- Silly Point is used whilst playing Cricket.
« It is a fielding position, on the off side, square of the batsman's wicket, and very near the batsman.

Q:84 The correct answer is option 1 i.e. sodium bicarbonate.

- Washing soda for clothes is sodium bicarbonate.
+ Chemical Formula: Na,CO4
« It's a salt of carbonic acid.

Q:85 The correct answer is option 1 i.e. J L Beard.
J L Beard invented the television.
Q:86 The correct answer is option 2 i.e. Bihar.

+ The Pala dynasty was of Bihar.
« Ruled from the 8th to the 12th century.

Q:87 The correct answer is option 3 i.e. Michael Madhusudan Dutta.
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- Nil Darpan was a Bengali play written by Dinabandhu Mitra in 1858-1859.
+ The play was translated to English by Michael Madhusudan Dutta and published by Reverend James Long.

Q:88 The correct answer is option 4 i.e. Moves one day backwards.

- Once a ship crosses the International Date Line and moves from west to east, it moves one day backwards.

« It is an internationally accepted demarcation on the surface of Earth, running between the North Pole and the South
Pole and serving as the boundary between one calendar day and the next.

« It passes through the Pacific Ocean, roughly following the 180° line of longitude.

Q:89 The correct answer is option 1 i.e. Indore.

- According to Cleanliness Survey, in present-day India, Indore is the cleanest.
- Surat is the second cleanest city in India.

Q:90 The correct answer is option 4 i.e. Gujarat.

+ In the remembrance of the victory of Emperor Akbar's battle, Buland Darwaza was constructed at Gujarat.
- Built-in: 1575 A.D.

« It is the highest gateway in the world.
Q:91 The correct answer is option 4 i.e. Fishing Cat.

- The fishing cat symbolises West Bengal.
- Bird: White-throated King Fisher

* Tree: Devil’s Tree

* Flower: Shephali
Q:92 The correct answer is option 4 i.e. Ship.
Nautical miles are used to measure the distance travelled through the water.
Q:93 The correct answer is option 2 i.e. Aravalli.

* The oldest mountain range in India is Aravalli.

+ Width: 10km to 100km

* Total length: 800 km.

- Covers the Indian states of Delhi, Haryana, Rajasthan and Guijrat.

Q:94 The correct answer is option 1 i.e. Cabinet Mission.

+ On the decision of the Cabinet Mission, the Constituent Assembly said to have been created.
« It was elected to frame the Constitution of India.
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Q:95 The correct answer is option 3 i.e. 1930.

+ The FIFA World Cup is an international association football competition contested by the senior men's national
teams of the members of the Fédération Internationale de Football Association (FIFA), the sport's global governing
body.

« Awarded every four years

- First event date: 13 July 1930

Q:96 The correct answer is option 3 i.e. Lactobacillus.

+ Lactobacillus is useful for the human body.
- Found in the digestive, urinary, and genital systems.

Q:97 The correct answer is option 4 i.e. Tehreek-e-Insaaf.
The political party of the Prime Minister of Pakistan Imran Khan is called Tehreek-e-Insaaf.
Q:98 The correct answer is option 1 i.e. Samudragupta.

- Samudragupta was known as 'Napoleon of India'.
« He was a ruler of the Gupta Empire of Ancient India.

Q:99 The correct answer is option 3 i.e. FORTRAN.

- The first language of Computers was FORTRAN.
- Its name stands for FORmula TRANslating system.
» Designed at IBM for scientific computing.

Q:100 The correct answer is option 1 i.e. 5.

- 5 countries are Permanent Members in the United Nation's Security Council.
* They are the French Republic, the Russian Federation, the United Kingdom of Great Britain and Northern Ireland,
and the United States of America.

So, these are all the solutions for the WBP Constable Prelims Previous Year Paper 2018. Keep Practicing for the upcoming
WBP Constable Prelims Exam.

WBP Constable Prelims Exam Preparation Tips

The West Bengal Police (WBP) Constable Prelims exam is a highly competitive examination, and thorough preparation is
essential for success. Here are some tips for preparing for the WBP Constable Prelims exam:
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—

. Start Early and Plan Your Preparation: Begin your preparation well in advance to cover the vast syllabus effectively.
Create a comprehensive study plan that allocates time for each subject and includes regular practice sessions.

N

. Understand the Syllabus and Exam Pattern: Thoroughly understand the exam pattern and syllabus to know the
scope of the exam and the type of questions asked. This will help you focus your preparation and avoid wasting
time on irrelevant topics.

3. Gather Quality Study Material: Collect relevant and updated study material from reliable sources. Refer to
recommended textbooks, study guides, and online resources to ensure you are covering the correct topics and
concepts.

4. Focus on Important Topics: Identify the most important topics and concepts based on the exam pattern and
previous year's question papers. Prioritize these topics and allocate more time to mastering them.

(&)

. Practice Regularly with Previous Year's Question Papers: Solve previous year's question papers to familiarize
yourself with the exam format, question types, and difficulty level. This will help you improve your time
management and test-taking strategies.

(@)}

. Revise Regularly and Effectively: Schedule regular revision sessions to reinforce your understanding of the
concepts and retain information. Use techniques like summarizing, mind mapping, and flashcards for effective
revision.

~

. Stay Updated with Current Affairs: Regularly read newspapers, magazines, and online news portals to stay
updated with current affairs, especially related to West Bengal. This will help you answer current affairs-based
guestions in the exam.

8. Maintain a Healthy Lifestyle: Prioritize your physical and mental well-being during preparation. Maintain a balanced
diet, exercise regularly, and get adequate sleep. A healthy lifestyle will enhance your focus, energy, and memory.

O

. Stay Motivated and Believe in Yourself: Stay positive and motivated throughout your preparation. Believe in your
abilities and focus on your strengths. Visualize your success and maintain a determined attitude.

Remember, consistent effort and smart preparation strategies are key to cracking the WBP Constable Prelims exam. Stay
focused, dedicated, and persistent in your efforts, and you will achieve your goal of clearing the exam and embarking on a
fulfilling career in the West Bengal Police.
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